?_)_&:_41_/_133_4‘& =0

R

a‘EJ_) Yr[.332 f‘= 394.7

33 peple

C.) 1A00=1tx ]330 Plug into ceblolor <1300

BRV/ETP [ag
W wiadow: Xmin:0 xXmax:ds X sekes 2

\/_m‘,n_'-,O_\/ max " |S00 __\I_gw.b: /160

@*05'6 £20 , becanie ot 90 nweeksHa erhreschool i's
e cteof

ID-) V=C-Kx(0.8) ms”

Las) whnt+=0, o spad of goseeadt is o500 betause ther

A,Qﬂbmohu#sf- hos not shrted Pra dascant. )
0= ce-kx(0.8)° v{sget
1 7 O=C,",4(l) OL T .
2 0=¢-k = k=S 50 7 _ B
| etk S
1b) al.b=c-te(08)? R )
S ALz K—0oudlk (smce e=K)

P~

| / ]
1 T
w’___él_l__t_gig%g_(é_ [ 23 4 56 # o
0% ool _

B k=00 =0 - (0 (0. 8)5— 2. m Ipnmbku/‘fr}' 7 -

- emne g | acwméfs_rﬂgev%\ﬁ
e V= o - Wo(0.8) " _ /i Capa) M/_M_Qﬁoﬂqclke;k,
1 = 35404 . e e

i - ﬁ@eea%l{_@_om ol

Scanned with CamScanner



] 5))/0[{)400/0 92)° | ( [~0.05 = 0.99)

_ jéu Yoo (0. 92)"308
7605 - dow (9.22) 7= 505, Zmﬁawafw

_?Wfb

IR uao/om)""

400
300‘
: o?oo

X-wn:o \/'rvu‘n: O
o ool S~ Xemak+lp__ \-mux: Soo
el . X-$tadet | \’l’smﬁe: so

A ¥ b % 10 17 1Y

A

A}é"%’w—m/

D) »4 hdf Ot s e e 9{/104( ﬁr\sorv\eﬂu"-f"a +o @x
M&L éf‘Vl S0%.

)7

WH) = loxat Za

a\ e joaihe M)Uqﬂf‘j of #crwwm w25 T Lﬂ%
ﬁlojfﬁq ' Life ISBM;———? 5=1023 > | —a/ 7&-:\5’ /

|

=\aa [, ?%Hﬁvfu h~ e A20.03% 4
¢) wi2)=0/0.793%)° Jof——}mg N "“&»

4) i) 3=10(0,293%)"

g

Jz3 N, =l0(0.743)

e, nwix ! O

Y-naX: 29 MAx: (O

e

3

X-seade: § \!Suﬂ( /
B (i) M=y Yy = S4mne

as ¢,

iy |

Scanned with CamScanner



